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QUESTION 1

Identify three types of activities that are captured in Administration logs. (Choose three.)
A. migrations with the site as target

B. deployment of configuration product families

C. creation of data tables

D. modification of Commerce process objects

E. creation of configuration objects

F. uploading of files in File Manager

Correct Answer: ABD

QUESTION 2

Which statement is true about creating individual user groups for each partner organization, when creating partner
organizations?

A. A host company FullAccess user create groups for partner organizations; however, the superuser of a partner
organization can only assign users to existing groups.

B. The groups of a partner organization are maintained by FullAccess users belonging to the partner organization.
C. The groups of partner organizations are created by using the Bulk Upload utility or SOAP API calls.

D. Partner organizations use the same user groups defined for the host company.

E. Partner organizations have only users, but no user groups.

Correct Answer: A

QUESTION 3
Identify two standard ways to modify the overall integration behavior of CPQ Cloud and Salesforce. (Choose two.)

A. Use the Site Setup object and CPQ Cloud Commerce Package settings in Salesforce to meet varying customer
requirements.

B. Write a Salesforce API to change integration behavior in CPQ Cloud.
C. Use the integration XSLs within the Commerce process to modify integration behavior at the object and field levels.
D. Write a custom BML Util library function in CPQ Cloud.

Correct Answer: AC
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QUESTION 4

When a user clicks Save within Commerce of CPQ, the user gets the following error: "insufficient access on cross
reference id." Why?

A. The user does not have CPQ access.

B. The user does not have the ability to see and edit any object in Salesforce that the user is trying to edit.
C. Upon installing Salesforce Managed Package, the flag "Allow Quote Creation" is not checked.

D. The user does not exist in Salesforce Managed Package.

Correct Answer: B

QUESTION 5

Which two statements are true about Formulas? (Choose two.)

A. Both attributes and library functions can be used as inputs for Formula Management.
B. Only attributes can be used as inputs for Formula Management.

C. Formulas can set both transaction- and line-level attributes.

D. Formulas cannot be run in sequence to perform multi-step calculations.

Correct Answer: CD
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